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(ng-TEQ/m°N) (ngTEQ/Q)
(kg/h)

1 1 |H14.12 4167 H28.12.5 0.0018 0.1
5 2 [H2.11 125 H29.3.9 3.4 10[ H29.3.10 0.00031
H29.3.24 0.012
3 [H12.3 5067.5 H29.7.13 0.012 0.1] H29.7.13 0.11
3 H29.7.13 0.00000014
H29.11.15 0.28
4 [He.7 112 H29.5.19 5 10| H29.5.20 0.12
. H29.5.20 0.31
5 [H10.2 180 H29.5.20 0.22 10|  H29.5.22 0.0067
H29.5.22 0.037
6 [H6.1 1200 H29.9.14 7.5 10| H29.9.16 0.0027
H29.9.16 0.00064
5 7 [H3.4 160 H29.6.22 6.7 10| H28.10.6 0.15
H28.10.6 0.11
H29.9.27 6.3 10[  H29.9.28 0.14
H29.9.28 0.11
8 [H6.9 600 H29.3.10 8.4 10[  H29.3.11 0.15
6 H29.3.11 6.1
H30.2.26 5.1 10  H30.2.27 0.1
H30.2.27 2.3
7 9 [H10.3 170 H29.7.13 0.14 10| H29.7.18 0.00014
8 10 |H6.7 120 H29.12.16 0.48 10 H29.12.16 0.25
H29.12.16 0.098

11 [H9.4 2083 H29.8.15 0.65 5

12 |H9.4 2083 H29.7.12 0.82 5

9 13 [H9.4 2083 H29.9.7 0.45 5
H29.7.12 2.4
H29.7.12 0.0027
14 |H21.4 1750 H29.12.20 0.00019 5( H29.12.20 0.66
H29.12.20 0.025
H29.8.30 0.000025 5| H29.8.30 0.78
10 H29.8.30 0.042
15 [H21.4 1750 H29.4.18 0.000027 5 H29.4.18 0.77
H29.4.18 0.039
H29.11.22 0.00021 5| H29.11.22 0.8
H29.11.22 0.024
1 16 |H18.5 558 H30.2.19 0.0062 5  H30.2.20 0.072
H30.2.20 0
12 17 |H15.2 100 H29.7.12 0.53 5| H29.7.13 0.063
13 18 [H4.4 495 H29.11.29 0.026 10 H29.12.6 0.04
H29.12.6 0.000036
14 19 |[H26.10 183 H29.10.20 0.0014 5 H29.10.23 4.1
H29.10.23 0.00086




(ng-TEQ/m°N) (ngTEQ/g)
(kg/h)
5 20 [H15.11 190 H29.11.6 0.084 5[ H29.11.14 0.00026
H29.11.14 0.25
5 21 |H217 189 H29.10.17 0.3 5[ H29.10.17 0.11
H29.10.17 0.00000054
17 22 |H6.3 43 H29.12.15 2.7 10| H29.12.18 0.016
18 23 |H16.8 80 H30.2.21 0.0034 5 H30.2.22 0.0000036
19 24 |H23.7 40 H29.5.8 0.18 5 H20.8.18 0.15
% 25 |s51.2 1250 H29.9.22 0.00082 5  H20.9.22 1.3
H29.9.22 0.0017
” 26 |H5.7 160 H29.6.6 0.93 10 H29.6.8 0.0000014
H29.6.8 0.0026
» 27 |H7. 160 H30.3.6 0.0076 10 H30.3.7 17
H30.3.7 0.0048
28 |H25.12 4271 H29.5.10 0.0014 0.1
H29.11.16 0.002 0.1
29 |H25.12 4271 H29.5.10 0.00011 0.1
H29.11.16 0.0026 0.1
H29.2.2 0.029|1 2
23 H29.5.10 0.211 2
H29.7.20 0.261 2
H29.11.16 0f1 2
H29.11.16 0.4(1 2
H29.11.16 0]1 2
H30.2.20 0.17|1 2
21 30 |H2.12 500 H29.11.17 0.87 10 H29.11.17 0.39
H29.11.17 0.36
. 31 |H4.9 538 H29.8.28 0.0065 10| H29.8.28 0.00052
H29.8.29 0.03
2% 32 |H11.10 56 H30.2.21 2 10 H30.1.23 0.2
H30.1.23 0.018
27 33 |H26.9 112.5 H29.3.1 0.021 5 H29.3.1 0.0000024
H29.3.1 0.0000075
2 34 [H22.2 933 H29.9.15 0.0029 5 H20.9.15 6.8
H29.9.16 0.42
2 35 |H8.9 190 H30.1.10 1.9 10| H30.1.12 0.0027
H30.1.12 0.0066
30 36 |H26.12 150 H29.12.6 0.00012 5  H29.12.7 0.00032
37 |Hs.8 195 H29.12.1 0.0076 10| H20.12.4 0.0038
31 38 |H26.10 183 H29.11.16 0.0017 5 H29.11.20 0.038
H29.11.20 0.00000066
2 39 |H7.11 120 H29.12.22 0.06 10 H29.12.23 0.029
H29.12.23 0.0037




(ng-TEQ/m°N) (ngTEQ/g)
(kg/h)

3 40 [H7.3 96 H30.1.23 3 10| H30.1.25 0.19
H30.1.25 0.015
M 41 [H7.2 375 H30.2.5 0.019 10 H30.2.7 0.015
H30.2.7 0.018
. 42 [H12.9 158 H29.5.23 0.0003 5 H29.5.24 0.095
H29.5.24 0.00000041
" 43 [H2.10 1350 H29.7.14 0.14 10[ H29.7.14 0.00098
H29.7.14 0.00000013
37 44 |H8.6 250 H29.10.11 2.6 10 H29.10.13 0.000034
H29.10.12 0.0000007

45 |[H8.11 23125 H29.9.22 0.031 5

- 46 |H8.11 23125 H29.9.22 0.11 5
H29.9.22 2.9
H29.9.22 0
29 47 |H8.10 180 H29.12.15 0.21 10 H29.12.18 0.15
H29.12.18 0.000000077
2 48 |H1.9 1960 H29.9.20 1.6 10 H29.9.20 0.54
H29.9.20 0.019
M 49 [H13.11 48.8 H30.1.25 0.33 5  H30.1.29 0.0013
H30.1.29 0.2
50 |H14.11 2750 H29.7.21 0.0068 1 H29.7.21 0.0026
42 H29.7.21 0.018

51 [H14.11 2750 H29.12.13 0.00000066 1
3 52 [H14.9 192 H29.9.29 2.2 5  H29.9.29 0.0022
H29.9.29 0.64

(ng-TEQ/m°N)

1 1 [S59.7 26000 (KVA H29.10.29 0.44 5
2 1 |H211 1.6|t/h H29.3.9 0.38 5
3 2 |[s62.12 1.02[t/h H28.3.28 1.3 5
4 3 |H23.1 10|t/h H29.12.26 0.19 1




